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ax{&H (Gradle)

plugins {
kotlin("jvm") version "1.9.23"
id("com.google.devtools.ksp") version "1.9.23-1.0.20"

repositories {
mavenCentral()

dependencies {

implementation(kotlin("stdlib"))

implementation(kotlin("reflect"))

implementation("org.Kktorm:ktorm-core:4.1.1") . N
<= F/\\ E =

implementation("org.ktorm:ktorm-support-mysql:4.1.1") Ktorm tA\qﬁﬁli MySQL 77:33t%%

implementation("org.ktorm:ktorm-ksp-annotations:4.1.1") . . .
ksp("org.ktorm:ktorm-ksp-compiler:4.1.1") KSP 2 5 A4 2 A




sNER (Maven)

<dependencies>

<dependency>
<groupId>org.jetbrains.kotlin</groupId>
<artifactId>kotlin-stdlib</artifactId>
<version>${kotlin.version}</version>

</dependency>

<dependency>
<groupId>org.jetbrains.kotlin</groupld>
<artifactId>kotlin-reflect</artifactId>
<version>${kotlin.version}</version>

</dependency>

<dependency> Ktorm @?/QE:F
<groupId>org. ktorm</gr‘0UDId>/

<artifactId>ktorm-core</artifactId>
<version>${ktorm.version}</version>
</dependency> -
<dependency> MYSQL 774 = S}i%
<groupId>org.ktorm</groupId>
<artifactId>ktorm-support-mysql</artifactId>
<version>${ktorm.version}</version>

</dependency> S

<dependency> KSP /Eﬁ%;i%
<groupId>org.ktorm</groupIld>
<artifactId>ktorm-ksp-annotations</artifactId>
<version>${ktorm.version}</version>

</dependency>
</dependencies>

<build>

<sourceDirectory>${project.basedir}/src/main/kotlin</sourceDirectory>
<testSourceDirectory>${project.basedir}/src/test/kotlin</testSourceDirectory>
<plugins>

<plugin>

<groupId>org.jetbrains.kotlin</groupId>
<artifactId>kotlin-maven-plugin</artifactId>
<version>${kotlin.version}</version>
<extensions>true</extensions>
<configuration>
<compilerPlugins>
<compilerPlugin>ksp</compilerPlugin>
</compilerPlugins>
</configuration> KSP /f)t ’E% _&I_ ﬁz %%%&-ﬁ%{#
<dependencies>
<dependency>
<groupld>org.ktorm</groupId>
<artifactId>ktorm-ksp-compiler-maven-plugin</artifactId>
<version>${ktorm.version}</version>
</dependency>
</dependencies>

</plugin>

</plugins>

</build>



Hello, World!

Y E
fun main() {
val database = Database.connect("jdbc:mysql://localhost:3306/ktorm", user = "root", password = "#x*x")
#Fl DSL €l EZ\H Query XK
// select * from t_employee %%E {—‘H:T %Tk b ﬁhqu:ﬁ%{%)ﬂ ¢ ffﬁ%
for (row in database.from(Employees).select()iﬁf’—- Query AR E or

HENEWERATEN

println(r'ow[Employees.name])4\
}
} E 4 £ QueryRowSet E#H 7 R E &, FHM

AULA ] B e s

object Employees : Table<Nothing>("t_employee") {

val
val
val
val
val
val
val

id = int("id").primaryKey()

name = varchar("name") < @ffﬂ Kotlin object ﬁiﬁ(%%xﬁéia ﬂ%ﬁ% Table ﬁé
job = varchar("job") f# F int, long, varchar, date ZE# = X 7|
managerId = int("manager_id")

hireDate = date("hire_date")
salary = long("salary")
departmentId = int("department_id")
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@Table("t_department")

interface Department : Entity<Department> {

@Table("t_employee")

interface Employee : Entity<Employee> {
@PrimaryKey @PrimaryKey
var id: Int var id: Int
var name: String var name: String

var location: String var job: String

} var managerld: Int?
var hireDate: LocalDate
&R AR

var salary: Long

* @Table: WUELIRE, A k4, RINEEKELE @References

/NG T XIS 4 TR ey A ME & 4

@olumn: AFEXKRWTE, FAHEINL, RAET
Bt A& s 8 ik /NG T X S TR A AR 51 4

*  @PrimaryKey: FrVEF#F K

e @References: PRVE/NHERERHNIIK, X HF— W —F %
A — KBk

var department: Department




KSP & pka9463

public open class Departments(alias: String?) : Table<Department>("t_department”, alias) {

"

cate an entity of [Department] anc cify the initial values for each property, properties

* that doesn't have an initial value will leave unassigned.
public fun Department(

id: Int? = Undefined.of(),

name: String? = Undefined.of(),

location: String? = Undefined.of()
): Department {...}

public val id: Column<Int> = int("id").primaryKey().bindTo { it.id }

has the

public val name: Column<String> = varchar("name").bindTo { it.name }

ocation

public fun Department.copy(
’ id: Int? = Undefined.of(),
public val location: Column<String> = varchar("location").bindTe { it.location } R R
I— name: String? = Undefined.of(),
location: String? = Undefined.of()

): Department {...}

valve of [Department.id].

public operator fun Department.componentl(): Int = this.id

public companion object : Departments(alias = null) Return +h . ¢ [Department.name]
* Returr The value o . .

public operator fun Department.component2(): String = this.name

ce of [Departments].

public val Database.departments: EntitySequence<Department, Departments> get() = this.sequenceOf(Departments) > of [Department.location].

public operator fun Department.component3(): String = this.location



Why interface?

f# | interface & X SEfRZ, Ktorm 73 LA BE LK
X ENEHCR AT, WA AR FE N —
BEEAER 773, ML active record &3 HY X
ZBAE, Bl

// select * from t_employee where id = ?

// update t_employee set job = ?, salary = ? where id = ?

val el = database.employees.find { it.id eq 666 }
if (el != null) {
el.job = "CEO"
el.salary += 100_000_000
el.flushChanges()
}
// select * from t_employee where id = ?
// delete from t_employee where id = ?
val e2 = database.employees.find { it.id eq 777 }

e2?.delete()

Az, BEFQELENZR?

/! Bl FIE
// insert into t_employee (name, job, hire_date) values (?, ?, ?)
val e3 = Employee(name = "vince", job = "engineer", hireDate = LocalDate.now())

database.employees.add(e3)

/! BHEISEE FHEHR job FE&

[/ #iH: Employee(id=123, name=vince, job=tech evangelist, hireDate=2024-11-02)
val e4 = e3.copy(job = "tech evangelist")

printin(e4)

// ;

[/ #iHi: 1d=123, name=vince, job=engineer

val (id, name, job) = e3
println("id=$id, name=$name, job=$job")



REEIR

[/ BATE AL

// select *

// from t_employee

// left join t_department _ref0 on t_employee.department_id = _ref0.id
for (employee in database.employees) {

/] TR A FEER T L, BRI A L, 15/ List<Employee>

// select *

// from t_employee

// left join t_department _ref@ on t_employee.department_id = _ref0.id
// where _ref®@.name = ?

println(employee) val employees = database.employees
+ .filter { it.refs.department.name eq "tech" }
.tolist()
[/ P E A T, 5 List<Employee>
// select *
// from t_employee
// left join t_department _ref@ on t_employee.department_id = _ref0.id [/ BmENFER filter BHATUELES
val employees = database.employees.tolist() // select *

// from t_employee
// left join t_department _ref0 on t_employee.department_id = _ref0.id
// where (t_employee.department_id = ?) and (t_employee.manager_id is not null)
val employees = database.employees
.filter { it.departmentId eq 1 }
.filter { it.managerId.isNotNull() }
.tolList()

/] g, g ID 4 1 A 1A A T, a8 /E List<Employee>

// select x

// from t_employee

// left join t_department _ref0 on t_employee.department_id = _ref0.id

// where t_employee.department_id = ?

val employees = database.employees.filter { it.departmentId eq 1 }.tolist()



il

[/ (A mapColumns JE#IE R AT FEE, R0 4 List<Tuple3<Int?, String?, Int?>>
// select t_employee.id, t_employee.name, datediff(?, t_employee.hire_date)
// from t_employee
// left join t_department _ref0@ on t_employee.department_id = _ref@.id
// where t_employee.department_id = ?
database.employees

.filter { it.departmentId eq 1 }

.mapColumns { tuple0f(it.id, it.name, dateDiff(LocalDate.now(), it.hireDate)) }

.forEach { (id, name, days) ->
println("$id:$name:$days")

¥
// (/5 sortedBy i ¥x)arigis B
// select *
// from t_employee
// left join t_department _ref@ on t_employee.department_id = _ref0.1id

// order by t_employee.salary
val employees = database.employees.sortedBy { it.salary }.tolist()

/] i
// select *
// from t_employee
// left join t_department _ref0 on t_employee.department_id = _ref0.1id
// order by t_employee.salary desc, t_employee.hire_date
val employees = database.employees

.sortedBy({ it.salary.desc() }, { it.hireDate.asc() })

.toList()

// (E/F drop #7 take #7T, Hil 5

val pageNo = 1

val pageSize = 10

val query = database.employees
.filter { it.departmentId eq 1 }
.drop((pageNo - 1) * pageSize)
.take(pageSize)

// select *

// from t_employee

// left join t_department _ref0 on t_employee.department_id = _ref0.id
// where t_employee.department_id = ?

// limit 2, ?

val employees = query.tolist()

// select count(*)
// from t_employee
// left join t_department _ref0 on t_employee.department_id = _ref@.id
// where t_employee.department_id = ?
val pageCount =
if (query.totalRecordsInAllPages % pageSize == 0) {
query.totalRecordsInAllPages / pageSize
} else {
query.totalRecordsInAllPages / pageSize + 1



%AE@

Gt LE 10000 #IA 4
// select count(x)
// from t_employee
// left join t_department
// where t_employee.salary > ?
database.employees.count { it.salary gt 10000 }

_ref0 on t_employee.department_id = _ref0.1id

val cnt =

[/ HBE A 1% 10000 497 1

// count { it.salary gt 10000 } > 0
val any = database.employees.any { it.salary gt 10000 }
[/ FIE A A T #E 10000 #97 T

// count { it.salary gt 10000 } == 0

val none = database.employees.none { it.salary gt 10000 }

[/ KB EE G A TR % A5 10000
// count { it.salary lte 1000 } == 0
val all = database.employees.all { it.salary gt 10000 }

/] B AT T2 A

// select sum(t_employee.salary)
// from t_employee

// left join t_department
val sum = database.employees.sumBy { it.salary }

_ref@ on t_employee.department_id = _ref0.1id

I// HHEFRE R T HRE T 7
:// select max(t_employee.salary)
\// from t_employee

i// left join t_department _ref@ on t_employee.department_id = _ref0.1id
1 val max = database.employees.maxBy { it.salary }

|

1

1

:// IR A LHIRIELF

1 // select min(t_employee.salary)

V// from t_employee

1

:// left join t_department _ref0 on t_employee.department_id = _ref0.1id
ival min = database.employees.minBy { it.salary }

|

1

VA R R

1

:// select avg(t_employee.salary)

| // from t_employee

I// left join t_department _ref0 on t_employee.department_id = _ref0.1id

val avg = database.employees.averageBy { it.salary }

1
1
1
1
|
1
V /] I LA T L R
I// select avg(t_employee.salary),
1

'// from t_employee

| // left join t_department
val (average,
.aggregateColumns { tupleOf(avg(it.salary),

max (t_employee.salary) - min(t_employee.salary)
_ref@ on t_employee.department_id = _ref0.1id
range) = database.employees

max(it.salary) - min(it.salary)) }



ﬁﬁ%AE@

Map<Int, Int>
// select t_ empluyee department_id, count(*)

[/ NI IEL 5, &/ Map<Int, Long>

// select t_ enplogee department_id, min(t_employee.salary)
// from t_employee // from t_employee
// left join t_department _ref0 on t_employee.department_id = _ref0.id // left join t_department _ref@ on t_employee.department_id = _ref0.id
// group by t_employee.department_id

val minMap = database.employees.groupingBy { it.departmentId }.eachMinBy { it.salary }

// group by t_employee.department_id
val countMap = database.employees.groupingBy { it.departmentId }.eachCount()

/! itEEN 15 . 1%/7 Map<Int, Double>
// i EES greifl, %7 Map<Int, Long> // select t_ emplolee department_id, avg(t_employee.salary)
// select t emploqee department_id, sum(t_employee.salary) // from t_employee
// from t_employee // left join t_department _ref0 on t_employee.department_id = _ref0.id
// left join t_department _ref0 on t_employee.department_id = _ref0.id // group by t_employee.department_id
// group by t_employee.department_id val avgMap = database.employees.groupingBy { it.departmentld }.eachAverageBy { it.salary }

val sumMap = database.employees.groupingBy { it.departmentId }.eachSumBy { it.salary }

// [AafitE
// select
// t_employee.department_id,

&/7] Map<Int, Tuple2<Double, Long>>

// i p 2 ¥, i%/7 Map<Int, Long>
// select t_ emp10Jee department_id, max(t_employee.salary)

// avg(t_employee.salary),

//  max(t_employee.salary) - min(t_employee.salary)

// from t_employee

// left join t_department _ref@ on t_employee.department_id = _ref0.id

// from t_employee
// left join t_department _ref0 on t_employee.department_id = _ref0.1id

// group by t_employee.department_id .
// group by t_employee.department_id

database.employees
.groupingBy { it.departmentId }
.aggregateColumns { tupleOf(avg(it.salary), max(it.salary) - min(it.salary)) }
.forEach { departmentId, (average, range) ->
println("departmentId=$departmentId, average=$average, range=$range")

val maxMap = database.employees.groupingBy { it.departmentId }.eachMaxBy { it.salary }
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EET
isNull
isNotNull
unaryMinus(-)
unaryPlus(+)
not(!)
plus(+)
minus(-)
times(*)
div(/)

rem(%)

is null

is not null

not

R

Ktorm:

SQL:

Ktorm:

SQL:

Ktorm:

SQL:

Ktorm:

SQL:

Ktorm:

SQL:

Ktorm:

SQL:

Ktorm:

SQL:

Ktorm:

SQL:

Ktorm:

SQL:

Ktorm:

SQL:

Employees.name.isNull()
t_employee.name is null

Employees.name.isNotNull()
t_employee.name is not null

-Employees.salary
-t_employee.salary

+Employees.salary
+t_employee.salary

IEmployees.name.isNull()
not (t_employee.name is null)

Employees.salary + Employees.salary
t_employee.salary + t_employee.salary

Employees.salary - Employees.salary
t_employee.salary - t_employee.salary

Employees.salary * 2
t_employee.salary * 2

Employees.salary / 2
t_employee.salary / 2

Employees.id % 2
t_employee.id % 2



EH13

notLike

and

or
xor

1t / less

lte / lessEq

gt / greater
gte / greaterEq
eq

neq / notEq

like

not like

and

or

xor

>=

<>

Ktorm:

SQL:

Ktorm:

SQL:

Ktorm:

SQL:

Ktorm:

SQL:

Ktorm:

SQL:

Ktorm:

SQL:

Ktorm:

SQL:

Ktorm:

SQL:

Ktorm:

SQL:

Ktorm:

SQL:

Ktorm:

SQL:

Employees.name like “%vince%”
t_employee.name like €‘%vince%’

Employees.name notLike “%vince%”
t_employee.name not like €‘%vince%’

Employees.name.isNotNull() and (Employees.name like “%vince%”)
t_employee.name is not null and t_employee.name like €‘%vince%’

Employees.name.isNull() or (Employees.name notLike “%vince%”)
t_employee.name is null or t_employee.name not like ‘%vince%’

Employees.name.isNotNull() xor (Employees.name notLike “%vince%”)
t_employee.name is not null xor t_employee.name not like €%vince%’

Employees.salary 1t 1000
t_employee.salary < 1000

Employees.salary lte 1000
t_employee.salary <= 1000

Employees.salary gt 1000
t_employee.salary > 1000

Employees.salary gte 1000
t_employee.salary >= 1000

Employees.id eq 1
t_employee.id = 1

Employees.id neq 1
t_employee.id <> 1
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between
notBetween
inList
notInList
exists

notExists

between

not between

in

not in

exists

not exists

Ktorm:

SQL:

Ktorm:

SQL:

Ktorm:

SQL:

Ktorm:

SQL:

Ktorm:

SQL:

Ktorm:

SQL:

Employees.id between 1..3
t_employee.id between 1 and 3

Employees.id notBetween 1..3
t_employee.id not between 1 and 3

Employees.departmentId.inList(1, 2, 3)
t_employee.department_id in (1, 2, 3)

Employees.departmentId.notInList(1, 2, 3)
t_employee.department_id not in (1, 2, 3)

exists(db.from(Employees).select())
exists (select * from t_employee)

notExists(db.from(Employees).select())
not exists (select * from t_employee)






Eﬁtﬂ

7 ID % 1
// select t_emplogee.name,

194 FH L
t_employee.salary

21 ] t/f/f//\

// from t_employee

// where (t_employee.department_id = ?) and (t_employee.job = ?)
database
.from(Employees)
.select(Employees.name, Employees.salary)
.where((Employees.departmentId eq 1) and (Employees.job eq "engineer"))
.forEach { row ->
printin("name=${row[Employees.namel}, salary=${row[Employees.salaryl}™)
¥
[/ BRI AT 10000 F97517. B/ FaF7 id DL T

// select t.department_id as t_department_id, avg(t.salary)
// from t_employee t
// group by t.department_id
// having avg(t.salary) > ?
val t =
database
.from(t)
.select(t.departmentId,
.groupBy(t.departmentId)
.having { avg(t.salary) gt 10000.0 }
.forEach { row ->
printin("id=${row[t.departmentId]}, avgSalary=${row.getDouble(2)}")

Employees.aliased("t")

avg(t.salary))

AL

~

~

select t. department id as t_ department id, avg(t salary)

~

from t_employee t
group by t.department_id

~

order by avg(t.salary) desc
limit 2, ?

al t = Employees.aliased("t")

(= R R e T
S~ ~

atabase

.from(t)

.select(t.departmentId,

.groupBy(t.departmentId)

.orderBy(avg(t.salary).desc())

Llimit(0, 16)

.map { row ->
tupleO0f(row[t.departmentId],

avg(t.salary))

row.getDouble(2))



¥, & HIHEZ E// % iF case-when iE#, HIE 7,
// select E// select
//  t.name as t_name, /) t.id as t_id,
//  t.salary as t_salary, i// t.name as t_name,
//  t.department_id as t_department_id, ' // case t.name when ? then ? when ? then ? else ? end
/7 rank() over ( ' // from t_employee t
/7 partition by t.department_id order by t.salary desc val t = Employees.aliased("t")
/) datahase
// from t_employee t. from(t)
val t = Employees.aliased("t")
database .selec?(
.from(t) t.1d,
.select( t.name,
t.name, CASE(t.name)
t.salary, WHEN("vince").THEN("male")

WHEN("mary") .THEN("female")
.ELSE("unknown")
LENDQ)

t.departmentld,
rank() .over {
partitionBy(t.departmentId).orderBy(t.salary.desc())



EEEiE

[/ B THEAF 10000 97 THF 1194 5 [/ B R TS 7 LA MR 1R F
// select i// select emp.name as emp_name, mgr.name as mgr_name, dept.name as dept_name
//  t_employee.name as t_employee_name, :// from t_employee emp
//  t_department.name as t_department_name '// left join t_employee mgr on emp.manager_id = mgr.id
// from t_employee :// left join t_department dept on emp.department_id = dept.id
// left join t_department on t_employee.department_id = t_department.id i// order by emp.id
// where t_employee.salary > ? 1val emp = Employees.aliased("emp")
database ival mgr = Employees.aliased("mgr")
.from(Employees) 1val dept = Departments.aliased("dept")

.leftJoin(Departments, on = Employees.departmentId eq Departments.id):database

.select(Employees.name, Departments.name) .from(emp)

.where(Employees.salary gt 100L) .leftJoin(mgr, on = emp.managerId eq mgr.id)

.map { row -> .leftJoin(dept, on = emp.departmentId eq dept.id)
tupleOf(row[Employees.name]l, row[Departments.namel) .select(emp.name, mgr.name, dept.name)

.orderBy(emp.id.asc())

.map { row ->
tupleOf(row[emp.name], row[mgr.name], row[dept.name])



IS leR

// insert into t_employee ( // update t_employee
// set job = ?,

//  manager_id = ?,

//  name, job, manager_id,
// hire_date, salary, department_id

/7 ) //  salary = ?

// values ( // where id = ?
//?,02,2, 2,2, 2 database.update (Employees) {
/7 )

set(it.job, "engineer")
database.insert(Employees) { set(it.managerId, null)
set(it.salary, 100)

where {

set(it.name, "jerry")

set(it.job, "trainee™)
set(it.managerId, 1)
set(it.hireDate, LocalDate.now())
set(it.salary, 50)
set(it.departmentId, 1)

it.id eq 2

// delete from t_employee where id = ?
database.delete(Employees) { it.id eq 4 }






SQL ERIZERKRI? (AST)

select *
SelectExpression columns * (empt
P (empty} from t_employee
left join t_department _ref@ on t_employee.department_id = _ref0.id
from JoinExpression type LEFT_JOIN where t_employee.department_id = 1
left TableExpression name t_employee
right TableExpression name t_department
tableAlias _ref
on BinaryExpression type EQUAL (=)
left ColumnExpression table TableExpression name t_employee
name—> department_id
right ColumnExpression table TableExpression name t_department
i tableAli
where BinaryExpression type EQUAL (=) name id aplenias fefd
left ColumnExpression table TableExpression name t_employee

name department_id

Argument

right Expression value U



SQL 2{aJ<ERLAY? (Visitor Pattern)

public abstract class SqlFormatter() : SqlExpressionVisitor { override fun visitTable(expr: TableExpression): TableExpression {
write("${expr.name.quoted} ")
if (lexpr.tableAlias.isNullOrBlank()) {

write("${expr.tableAlias.quoted} ")

override fun visitSelect(expr: SelectExpression): SelectExpression {
writeKeyword("select ")
if (expr.isDistinct) {
writeKeyword("distinct ")
H
if (expr.columns.isNotEmpty()) { return expr
visitExpressionlist(expr.columns) { visitColumnDeclaringAtSelectClause(it) }
} else {

write("* ")
override fun <T : Any> visitColumn(expr: ColumnExpression<T>): ColumnExpression<T> {

if (expr.table != null) {

if (lexpr.table.tableAlias.isNullOrBlank()) {
write("${expr.table.tableAlias.quoted}.")
} else {

writeKeyword("from ")
visitQuerySource(expr.from)

if .Wh I= 18
1f (expr.where L A write("${expr.table.name.quoted}.")

writeKeyword("where ")

}
if (expr.groupBy.isNotEmpty()) {

writeKeyword("group by ") write("${expr.name.quoted} ")

visitExpressionList(expr.groupBy) return expr

}
if (expr.having != null) {

writeKeyword("having ")
override fun <T : Any> visitArgument(expr: ArgumentExpression<T>): ArgumentExpression<T> {

write("? ")
_parameters += expr
return expr

visit(expr.having)
+
if (expr.orderBy.isNotEmpty()) {
writeKeyword("order by ")
visitExpressionList(expr.orderBy)
]
if (expr.offset != null || expr.limit != null) {
writePagination(expr)
}

i
i
I
l
!
1
1
1
I
i
I
l
!
1
1
1
I
i
I
l
!
1
1
1
I
i
I
l
!
1
1
1

visit(expr.where) : F
I
l
!
1
1
1
I
i
I
l
!
1
1
1
I
i
I
l
!
1
1
1
I
i
I
l
!
1

return expr

1
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7 PostgreSQL ilike i&=#7
// select *
// from t_employee
// left join t_department
// where t_employee.name ilike ?

val employees = database.employees
.filter { it.name ilike "%vince%" }
.tolList()

/K

* X .‘-/
*/

infix fun ColumnDeclaring<*>.ilike(argument: String) =

PostgreSQL ilike &E7F

ILikeExpression(
left = this.asExpression(),
right = ArgumentExpression(argument, VarcharSqlType)

S5 vince IR L, BEEAE

_ref0 on t_employee.department_id =

_ref0.1id

V&S

* ilike FHAr(E

*/

data class ILikeExpression(

val left: ScalarExpression<*>,
val right: ScalarExpression<#*>,

override val sglType: SqlType<Boolean> = BooleanSglType,

override val islLeafNode: Boolean = false,

override val extraProperties: Map<String, Any> = emptyMap()

) : ScalarExpression<Boolean>()

VA3

* 7 SqlFormater £ ILikeExpression /7 SQL piE

x/

override fun visitILike(expr: ILikeExpression): ILikeExpression {

visit(expr.left)
writeKeyword("ilike ™)
visit(expr.right)
return expr



BEX SQL Y

fun dateDiff(left: ColumnDeclaring<LocalDate>, right: ColumnDeclaring<LocalDate>) =
FunctionExpression(
functionName = "datediff",
arguments = listOf(left.asExpression(), right.asExpression()),

// fEH MySQL datediff mari H# 17 THIARKE sqlType = IntSqlType

// select t_employee.id, datediff(?, t_employee.hire_date) )

// from t_employee

// left join t_department _ref@ on t_employee.department_id = _ref0.id

// where t_employee.department_id = ?

database.employees /3
.filter { it.departmentId eq 1 } *x HHTH #A LocalDate, #iFZEZER SQL AZBLE
.mapColumns { tupleOf(it.id, dateDiff(LocalDate.now(), it.hireDate)) } */

.forEach { (id, days) ->
printin("$id:$days")

fun dateDiff(left: ColumnDeclaring<LocalDate>, right: LocalDate) =
dateDiff(left, left.wrapArgument(right))

* HHLIFEFZMEA LocalDate, miF#FERA SQL AZHE

*/

fun dateDiff(left: LocalDate, right: ColumnDeclaring<LocalDate>) =
dateDiff (right.wrapArgument(left), right)



BEX SQL =7

@Table("t_employee™)
interface Employee : Entity<Employee> {
@PrimaryKey
var id: Int
var name: String
var joh: String
var managerId: Int?
var hireDate: LocalDate
var salary: Long
@References
var department: Department
@Column(sqlType = JsonSqlType::class)
var hobbies: List<String>

class JsonSqlType<T : Any>(typeRef: TypeReference<T>) : SqlType<T>(Types.VARCHAR, "json") {
private val objectMapper = ObjectMapper()
private val javaType = objectMapper.constructType(typeRef.referencedType)

override fun doSetParameter(ps: PreparedStatement, index: Int, parameter: T) {
ps.setString(index, objectMapper.writeValueAsString(parameter))

override fun doGetResult(rs: ResultSet, index: Int): T? {
val json = rs.getString(index)
if (json.isNullOrBlank()) {
return null
} else {
return objectMapper.readValue(json, javaType)



PE3S

VS AR, L . 3 salary FE¢

1

:// insert into t_employee (id, name, job, salary, hire_date, department_id)
MySQL ktorm-support-mysql org.ktorm.support.mysql.MySqlD ' // yqlyes (2, 2, 2, 2, 2, ?)

ial
lalect :// on duplicate key update salary = salary + ?

PostgresSQL ktorm-support-postgresql org.ktorm.support.postgresql.P ! database.insertOrUpdate(Employees) {

ostgreSqglDialect set(it.id, 1)
SQLite ktorm-support-sqlite org.ktorm.support.sqlite.SQLit set(it.name, "vince"
eDialect set(it.job, "engineer")
SqlServer ktorm-support-sqlserver org.ktorm.support.sqlserver.Sq set(it.salary, 1000)
1ServerDialect set(it.hireDate, LocalDate.now())
Oracle ktorm-support-oracle org.ktorm.support.oracle.Oracl set(it.departmentld, 1)
eDialect onDuplicateKey {

set(it.salary, it.salary + 900)

<!-- Maven -->

<dependency>
<groupId>org.ktorm</groupId>

/1 MysSQL £

/ select *

/
/
// from t_employee
/
/

<artifactId>ktorm-support-mysql</artifactId>
<version>${ktorm.version}</version>

</dependency>
/ left join t_department _ref0 on t_employee.department_id = _ref0.1id

/ where match (t_employee.name, t_employee.job) against (?)
val engineers = database.employees
.filter { match(it.name, it.job).against("engineer") }
.tolList()

// Gradle
implementation("org.ktorm:ktorm-support-mysql:4.1.1")






Thanks! g
Havg/a
Nice Kotlin

Kotlin X HREXRS
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